=
N = 0 &
20128 &= 20l AF LBS|H HIAIG D ~ H AN I}
3 AbR) T}
Sol- % 2= 18 N2 (DS/S0YEAEEDS)
SO 2.2 YEAH

[
2

2 A

AN - XM . cle (s HEAY . N2 A} OH HEE oF
ot 30,236,122 A8,272,686
3,780,000
2,370,000
24,086, 122
Xz 25 1S NH(DS/Q0LESSDS) 2,986, 140 604,320
Al 260,000
i 2,726,140
x-S MEXE 2,986, 140 604,320
Al 260,000
= 2,726,140
MPNE-! 2,986, 140 604,320
Al 260,000
= 2,726,140
201 L EH2FH| 840 A 980
01 AR 2teld| 840 A980
o2ds¢ 840
ORSHH 4oISIAE 70,0002 3 23] 420
OB RIA AoI9IAE 70,0002 6 *13] 420
202 ¢ddl 1,500 1,500
01 SLHA bl 1,500 1,500
Ou=ZHI X3 AMH EFAXISH AS
1,500,000& 1,500
204 M= AH| 13,800 13,800
03 EZYRZHI 13,800 13,800
O 2 &=l 50,0003 23 = 12& 13,800
307 S12H0| & 285,600 285,600
05 QIZt2EZ 285,600 285,600
OUNWM =AM T2)H 2
200,000,000 200,000
Ox==S AOlHEsHH 29 60,600,000& 60,600
OGAI=E2A 25,000,000& 25,000
308 AtXIEHMI SO0 ™ 2,684,400 304,400
Al 260,000
= 2,424,400
06 NI 2Z0HEEES 2,684,400 304,400
o™ NAME(R -=-5- 1)
1,819,400,000& 1,819,400
o9zl 4N 225,000,000& 225,000
OXS=011 &M ot stuE A2 X2 (1004
) 120,000, 000& 120,000
osgtngal AlFH X& 520,000,000& 520,000
Al 260,000
= 260,000




S BHAL D
Yo DSWS NU(WS/DSWS)
col (fstns XE 9l &)
_ - ez
N B2 E2(BH) - NRAY - BES kol 0Ol At o8 s
DERS XN (RZ/DEWR) 5,400,000 5,000,000 400,000
stus A& 5,400,000 5,000,000 400,000
s X 5,400,000 5,000,000 400,000
306 EG = 5,400,000 5,000,000 400,000
01 &%= 5,400,000 5,000,000 400,000
OWIST €&JI= XI& 5,000,000,000& 5,000,000
OUNIST 2tstg s HEE AFg 400,000,000 400,000
HASISHM AS(ns/84 - AHN=) 446,066 419,077 26,989
ZastEle 2= 446,066 419,077 26,989
ddists=d gdat 13,070 23,890 210,820
201 et 4,570 14,890 210,320
01 At 22l 2,570 12,890 210,320
oYt 1,800
OZHOIX =XE=+ 150,000& x 122 1,800
oed+d 770
OBMSEEAS HA+g
70,000 x11&+12] 770
02 2zl 2,000 2,000 0
OZZR2 % MA 2,000
O&=EHstsTAIEEl 2ldHl 2,000,000& 2,000
202 01t 3,500 4,000 A500
01 =LHAOHI 3,500 4,000 A 500
OTMBIS B! B NXITH 28
3,500,000& 3,500
203 ¥Rl 5,000 5,000 0
03 Al =X H 2 =X 5,000 5,000 0
OBMSISTAIDIE PE YRXX
5,000,000& 5,000
st S ALY 191,600 196,600 /5,000
201 et &I 27,600 32,600 /5,000
03 A2 & H] 27,600 32,600 25,000
OTMSIESEH HIH(SH, M) 27,000
OMg8&Lz1d ME g  7,500,000& 23] 15,000
OE2E= M 1,000& *5,00001 <2=2] 10,000
Ozt=25H| 1,000,000& =23 2,000
ostaSol2l 4D 600,000&! *13] 600
301 det2a s 4,000 4,000 0
10 HAtAHI2 &2 4,000 4,000 0
OTBMSIESEH L ATHS AKX Ml 24
0,000 *502 *23| 4,000
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A HHA D
M BYSSHAU PR(NS/EY - NPUR)
ol Hdstsl|gt 25 (&9 HM
_ = dEE =
SAN-ZH-SA(FA) - NFAY - BES O AF K '@E% Hlw &2
307 2Iztol & 75,000 70,000 5,000
02 QItF A8 X 20,000 20,000 0
O®=Zzy & stssotel XN
20,000,000& 20,000
05 QI”tRIEE 55,000 50,000 5,000
O%A=2HEgssuE 249 55,000, 000& 55,000
401 Al HIZ 20| 30,000 30,000 0
04 S Ar2t&A Al £ H| 30,000 30,000 0
OTMSIEEN 24 AX(SH,EFR)
30,000, 000& 30,000
403 At XISHHE =01 & 55,000 60,000 25,000
02 S| 2SOl CHEHCH &l At I 55,000 60,000 25,000
OsZFotatdiol 2 30,000,000 30,000
O2= 20udeld uwslE 25,000,000& 25,000
= RCE 2Z 241,396 198,587 42,809
101 @1 2d| 14,676 14,187 489
04 JIZHNIZ22 XS E 14,676 14,187 489
O=2= RCE AREX 14,676
OJl2s 36,6403 x1H+210& 7,695
Oxg=d 36,6403 x1H x05 3,481
Oun st 5,000 * 1% %210 1,050
o=l 5,000& «1H 2102 1,050
Ot=E¢ 600
. BH X 40,0003 x1H«10& 400
. & - HIS 20,0003 x1E*10& 200
Og &SIty 400, 000& »1H *23] 800
201 Et2dd| 48,220 14,800 33,420
01 AR 2tel] 48,220 14,800 33,420
o=l 45,000
ORCE 8 &= M 30,000,000& 30,000
ORCE & PPT HMIZ 5,000,000& 5,000
ORCE 22 H& 5,000,000& 5,000
ORCE AAIXI MIZ 5,000, 000& 5,000
oI+ 3,220
ORCE 2893 &g
70,0003 23 *23] 3,220
203 ¢ F=&H| 4,500 4,500 0
03 Al Z=Z AR F= XY 4,500 4,500 0
O2= RCE JIgt= JRFA 4,500,000& 4,500
301 etz azg 4,000 5,100 21,100




S EBALRLDL
ol BASSHA PE(DS/BY - NYDS)
Sl HASEI|Y 1S (S5l &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
10 BALAIH| AL S 4,000 5,100 A1,100
ORCE B3l UZSALEA A2
10,0002 *40% *103] 4,000
307 21240 90,000 60,000 30,000
02 212+ 60,000 60,000 0
ORCE ssozlY 2y
30,000, 0002 274 D4 & 60,000
05 BI2teIEt 2 30,000 0 30,000
©22¢ 2/0 D YoBT 30,000, 0002 30,000
308 Xt XI £H 7 S 01 & 30,000 0 30,000
06 DS TU NS T2 30,000 0 30,000
ORUAR BESD XA
10,000,00024 *37H & 30,000
403 KX EHFI S K2 0| & 50,000 60,000 10,000
02 21 2SOl CHEHCH S AL B 50,000 60,000 10,000
ON£INSLFDS 013tH0l 2
20,000, 0002 20,000
OXEIHSS D HAE ALY 30,000, 0002 30,000
SEXO HE A (UNDTHUT/AUHT) 7,500 23,000 A 15,500
MEA A 7,500 23,000 A 15,500
2EA A 7,500 23,000 A15,500
202 018 2,000 3,400 A1,400
01 201 bl 2,000 3,400 A1,400
ORBAIAE ¥ E XXGR 28t
2,000, 0002 2,000
203 2= Z bl 5,000 6,000 A1,000
03 Al B =R 2 =X Y| 5,000 6,000 A1,000
OREA OF ALEX 5,000, 0002 5,000
405 X+ &H3 St 500 0 500
01 KAt U S E 3 S| 500 0 500
oYULEXE Jtna 2Y 500,002 *17H 500
T[S 25 L 2Y(SHLDZ/25002) 7,904,956 5,586,973 2,317,983
3 2,000,000
Al 1,220,000
2 4,684,956
SAT 2% 7,680,788 5,382,540 2,298,248
3 2,000,000
Al 1,220,000
2 4,460,788
S5 2UCHB 29 414,783 406,540 8,248
101 Q1248 59,502 56,746 2,756




SN
X XH .
S Tt

@ &

AL Dt

S HE - S(EH) - NRAY - BES sk oy e
04 JIZtHI22XNHSE+ 59,502 56,746
OX=dcl ¥ dage F 59,502
(OPIE-=1 36,6403 x4 H+210 30,778
Oxg=¥ 36,640 x4 H 952 13,924
Oun =l 5,000& *4H 210 4,200
O=&l 5,000 *4H 210 4,200
OJs=d 3,200
. IS X 40,0003 x4 ZE+10& 1,600
. & HIE 20,0002 x8H +10& 1,600
O EF It 400,000 »4H »23] 3,200
201 Yur2 Y| 165,346 149,454
01 AR 2t 2ldl 84,340 77,700
oget=8gH| 70,860
OENMZ2d 2BF ¢ 20,000, 000& 20,000
O=SAMEXI (M) 7 16,5003 * 1502 A 2,475
OFANUUAEMN S MA 214 1,000,000 1,000
ORo=E =5 M 700,000& 700
OZE & A& 345,000& 345
Os:2s M&E 3,000& *1,0000H*13 3,000
OFINIZHES (TR AZ)
10,0003 x60& + 122 7,200
OoeEZHEY =2 2,000,000 122 24,000
ORoZHEY =2 200,000& «12& 2,400
OEMYEIEASE =3 300,000& =33 900
Ost&EA X2 =2 200,000& «12& 2,400
Os&I| A& =2 210,000 «12& 2,520
O3 i =2 210,000& »23| 420
ONH % PCE HAUALATEN 2
3,500, 000& 3,500
o2Z=+¢ 1,400
OENZ2HRAR] S HH+E
70,000& x 10 »23] 1,400
on =l 1,520
A2 28 190,000 *4H »23] 1,520
odx= 10,560
O= A 200, 0003 »2CH x12& 4,800
O=Zag 200,000& ~1CH*12& 2,400
O&=7| 70,000& »4CH = 12& 3,360
02 S=2gHl 78,206 68,954
0z32= & HAl 50,400
Odstea 230,000& «12& 2,760
oEIIe3 2,000,000 123 24,000




SN

AL Dt

FH: IS 5 Y 2 (222 /280=)
el A 28 (el &
SA - HB S (30) - NRAY - Ba S 0fl &t e HIDE

Odot=R= 200,000& »12& 2,400

OTv==tlg 30,000& 122 360

OSII(dH) 23 9,000& 102/ x12& 1,080

O A 2E 3l 205,000% *43] 820

OAEotdE 5l 40,000& 12 40

OdJetdae] s 170,000& 12 2,040

Oelgsl d=3ld AMEZ 1,400,000 *12E 16,800

OtdMNdRE= 50,000& *22] 100

OAIE EHIRXlH 27,806

OZA2 AL R 1,897,000& 1,897

OAMH & UWERI X2+ 12,251

o WH AH 315,000 315

. W ctolEelel 525,000 525

o WH ATEN 830,800 831

. T AN2el Ad 2,170,000& 2,170

o & OAH 1,568,000 1,568

. Eeb A 1,358,000 1,358

. ME ARE GE 553,000 553

. ZEIDICIN Mt 1,809,000 1,809

o FOHAEAIAE 760,000 760

o HUSHAAE 672,000 672

. DBEOFAIAHE 1,200,000 1,200

. HBYEA X YXAAE 490,000& 490

OLZENH RANE=+ 2,842

. SHOIX 1,162,000 1,162

. UXNEXNZH PC=E+ &8 105,000 105

. UXNEXNSA 02X oflet2el
725,000 725
. 2ES LAY 850,000 850
OEMaeIAASE(RetA) KRAES

944,000 944

OzANUEEI SXNES 4,529

. ASUEEED 2,225,300 2,226

A A==p 2,302,300 2,303

O M2telAE EHl sl 3,343,000 3,343

OAM& xF= 2| 2,000,000& 2,000
03 A2 S| 2,800 2,800 0

O M&t =2t AL 2,800,000& 2,800
202 O4H| 1,400 1,000 400
01 =LHOdHI 1,400 1,000 400

OEMZ 2t EFAXISH A 1,400,000 1,400
301 det2as 27,840 27,840 0




A HEALE

HH: ZIACHY &5 L 2 (2L 2Z/250=)

el SN2 2d (9 E2
A BB O(B) - NEAY - BAS Of o e Hl R =2
12 J|EtE &3 27,840 27,840 0
ORBENT Albl2a
10,0003 +2H +252 x 123 6,000
O=AM & 2323 ZAE
70,0003 12t =265 21,840
307 2I2tol A 40,000 40,000 0
02 SIZHHAE X 10,000 10,000 0
O=SHoY At 5,000,000& 5,000
O=AEE @At 5,000,000 5,000
05 QIZtREZ 30,000 30,000 0
(OF=FEng=ac:i 30,000,000& 30,000
405 Aok SHI 120,700 120,000 700
01 AL =S FSHI 700 0 700
oggs 837 #d 175,000 =4CH 700
02 &M 120,000 120,000 0
oM 7¢ 10,000& *8,0002 80,000
OCIXNENsE 7Y 40,000
OUXE2d= 20,000, 000& 20,000
OX X+ 0VD,CD 20,000& *1,000& 20,000
EF TN XA 64,000 74,000 A 10,000
Al 20,000
= 44,000
308 XX SHHSO0IA 64,000 0 64,000
Al 20,000
= 44,000
06 WEI|IZUUEELS 64,000 0 64,000
O0ls M2 X2 4,000,000& 4,000
O=AEE Z2]8 29 20,000, 000& 20,000
OESFT M Azl 40,000,000& 40,000
Al 20,000
= 20,000
A SN2 A (A=) 7,202,000 4,902,000 2,300,000
= 2,000,000
Al 1,200,000
= 4,002,000
203 YR =&ld| 2,000 2,000 0
03 A=A R H| 2,000 2,000 0
OEMEMZ AEFA 2,000,000& 2,000
401 Al HIZ 2 0HYI 7,200,000 4,900,000 2,300,000
= 2,000,000
Al 1,200,000
= 4,000,000
01 A& HI 6,684,000 4,729,000 1,955,000




SN

AL Dt

YU ZZCAD S Y 2Y(SHLBY/2502)
ool A 29 (Etel: &8
_ _ _ N E
SN B SRA(SIH) - MBAY - BAS 0l &k 24 o HlnE2
CEREEEE 6,684,000
OZ At 6,684,000,0002! 6,684,000
= 1,857,000
Al 1,114,000
= 3,713,000
02 22l 500,000 164,000 336,000
OHAZAZ Y 500,000, 0002 500,000
= 139,000
Al 83,000
z 278,000
03 Al & 2 CHH 16,000 7,000 9,000
OHAEAZ 28 16,000,000 16,000
z 4,000
Al 3,000
= 9,000
HeTAB 29 224,168 204,433 19,735
He A2 243 224,168 204,433 19,735
101 Q1248 104, 128 50,133 53,995
04 JI2H2ZNS B4 104, 128 50,133 53,995
OZTHA 2N JY 2ol 89,252
oJ=a 36,6402 x6% x2102 46,167
OfY+Y 36,6402 *62 x052 20,885
ORSH| 5,002 «6% 210 6,300
=L 5,0002 «6% 210 6,300
ONE+Y 4,800
. X 40,0002 *6% * 102 2,400
L E s 20,000 * 122 * 102 2,400
OYEEIH| 400, 0008 6% *23] 4,800
OXMSTAB =3IAM 14,876
oJlea 36,6402 *124+2102 7,695
OfY+Y 36,6402 125952 3,481
OREH| 5,000 *124+2102 1,050
ozl 5,000 *124+2102 1,050
ONs2Y 800
. X 40,0002 *124 102 400
L E s 20,0002 %22 * 102 400
OYEEIH| 400, 0008 * 12 %23 800
201 2Bre | 20,400 9,300 11,100
01 Ak 22l 12,000 6,000 6,000
CEIETES=¥] 12,000
OBZIHMUY HSTHB 2|
2,000,000 *67H 4 12,000
02 BB=22H| 3,000 3,300 A300




A HEALE

H: [TCHB HE L 2Y(SAUDZ/25012)
o9 HeCHB 29 (el &2
_ _ pSNE e
SN B SRA(SIH) - MBAY - BAS 0l &k 24 o HlnE2
02223 % HMAl 3,000
ONSETAHZ RBBIUANLY R4
300, 00021 *107H 2 3,000
03 & A2 2t 5,400 0 5,400
OTSFELY 0210 DSVT NS
150,002 ¥37 A #12% 5,400
301 B A3 3,640 30,000 26,360
12 B2 a3 3,640 30,000 26,360
OSA - 25 D20y ALY
70,0001 %25| %2674 £ 3,640
402 212 XH2 01 & 34,000 15,000 9,000
NEER S 34,000 15,000 19,000
OZSFEUL H2THR TN X
2,000,000% 177 34,000
403 REXISHHI S XH 0| H 6,000 6,000 0
02 2| 2SOl CHBHCH 8 A2 bl 6,000 6,000 0
OBV HSTHD 2Y(ALB2DH)
2,000,000% *37H 2 6,000
405 X443 S| 56,000 94,000 38,000
01 AU SBHSH) 4,000 8,000 A4,000
OZEFHUY JSTHB ZLXA(HIE)
2,000,000% x27H 2 4,000
02 =N 52,000 86,000 34,000
OZZBAU H2TH2 TN 7Y
2,000,000% +67H 2 2,000
OZESFHU H2THB ZLXA(TAH)
20,000,000} %27} 40,000
NN (FELT N/ RSLSAI) 6,144,700 17,676,920 A11,532,220
z 1,780,000
Al 890,000
2 3,474,700
AES §4 1,902,000 16, 152,000 14,250,000
z 100,000
Al 50,000
2 1,752,000
AULES S4(H=H) 1,002,000 3,702,000 2,700,000
203 2R FZH| 2,000 2,000 0
03 A2 =R 2= ZI Y| 2,000 2,000 0
OAZSHLANY LRET 2,000,000%! 2,000
401 Al &HIL 2 THY| 1,000,000 3,700,000 2,700,000
01 Al& 8] 994,000 3,627,807 A2,633,807
OULATSIAAL 994,000, 000! 994,000
03 Al & = CHb| 6,000 16,660 £10,660




A HEALE

HE: NN (FELXSNL/NHLTAI)
ol ATE 84 (el &2
_ _ HE T
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 il b o B2
00YATSRLAL 6,000,000%! 6,000
24 AZTE SIS 900,000 2,450,000 A11,550,000
z 100,000
Al 50,000
2 750,000
401 Al & HIL 2 THH| 900,000 12,450,000 A11,550,000
z 100,000
Al 50,000
2 750,000
01 Al& gl 769,000 1,972,000 A11,203,000
oRMATS FEAY 769,000, 00024 769,000
z 82,000
Al 41,000
2 646,000
02 22l 130,000 470,000 340,000
ORUACTES FEAY 130,000, 0002 130,000
z 17,900
Al 8,900
2 103,200
03 Al & = CHH| 1,000 8,000 AT7,000
o=MAES |4 1,000,0002 1,000
z 100
Al 100
2 800
SAEABE KAWL A 4,073,000 1,354,000 2,719,000
3 1,680,000
Al 840,000
2 1,553,000
ENSH2 MEH4B1 ZRABAY (K5t 4,073,000 1,354,000 2,719,000
z 1,680,000
Al 840,000
2 1,553,000
401 Al & HIL 2 THH| 4,073,000 1,354,000 2,719,000
3 1,680,000
Al 840,000
2 1,553,000
01 Al& 8] 3,933,000 1,351,000 2,562,000
OEHEIY MEH 4B BRAGAL 3,933,000
ORI bl 484,000, 00024 484,000
OZ Al 3,449,000,000%! 3,449,000
3 1,622,000
Al 811,000
2 1,016,000
02 22l 135,000 0 135,000
OEHEIY MEfSH ZASAIY 135,000,008 135,000
z 55,000
Al 28,000




SN

HE: NN (FELXGNL/NHLTAI)
Sl SAZASE XAHLAL (Erol: &2
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 glggf; HRE2
i 52,000
03 Al S THHI 5,000 3,000 2,000
Otat2 MEN=H SJASAIS 5,000, 000& 5,000
= 3,000
Al 1,000
i 1,000
S3AME =4 2 2 169,700 170,920 A 1,220
22 Fa=ENHH 29 169,700 169,700 0
201 Yer2 | 68,640 68,640 0
02 2324l 68,640 68,640 0
022323 2 HAl 68,640
Osal| 8,640,0002 8,640
O==& gl 60,000,000& 60,000
403 XX SIS A= 01 & 101,060 101,060 0
02 S| 2SOl CHSHCH & A I 101,060 101,060 0
O=std T2 29 72,320,000& 72,320
OMNREZ Z208 2Z 2,480,000& 2,480
OXge =8 s2¢3 14,160,000& 14,160
oMM HERA 29 7,860,0002! 7,860
OXNLZEUES 4,240,000 4,240
HY2AZU (HHALL D) (DIEH/DIE 225,521 94,992 130,529
A2 HHI(H A D) 109,689 0 109,689
eI 2| 109,689 0 109,689
101 212 dl 109,689 0 109,689
01 =24 106,243 0 106,243
OAZIZR+E 8,943 R x45 Al 2Hx22H « 128 106,243
02 JIEtAE = 3,446 0 3,446
OAALADR 4G (HHH)
, 381 45N 2+« 1H « 128 3,446
=2 ZH (B MA D) 115,832 94,992 20,840
Jl=&Hl 115,832 94,992 20,840
201 gEt2Ad| 39,212 32,772 6,440
01 A2 22ldl 39,212 32,772 6,440
Ogtt=EH| 15,020
OsHMa=2S 15,020,000& 15,020
O=&Hl 24,192
SELINEL 24,192,00024 24,192
202 (44l 69, 120 54,720 14,400
01 =2 WA bl 69,120 54,720 14,400
O2 L o4 bi 69, 120,000& 69, 120

_11_




Y HE-ENER
HE: BHS AL (AR D) (OIEHIIE)
£rel: D= P 0l (B A AR (el @R
_ _ HE T
SA-E . S(E) - MEAY - BES 01l &4 24 e {imE=Eh
203 H Rl 7,500 7,500 0
01 J| 228 P 2=48H 3,300 3,300 0
o=¥% 3,300,000& 3,300
04 RFAN2EHRFEH 4,200 4,200 0
ORM2IYFF=LH 350,000& =128 4,200
HRPES(HAMAGD) (LSS HH/A0HEHH) 7,121,239 7,326,026 N204,787
LHEHCHXI & 7,121,239 7,326,026 N204,787
2 M3 (ALY 7,000,000 7,000,000 0
02JI=d8E= 7,000,000 7,000,000 0
O EPIE= RS- 7,000,000 7,000,000 0
OS2 EA HEII= 7,000,000, 000& 7,000,000
Ad2te|se 22 121,239 326,026 N204,787
W EES 121,239 326,026 N204,787
02 A SHIANNES 121,239 326,026 N204,787
ONMBEIZE 2 (2SS TME)
121,239,000 121,239
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